AQA Level 2 Further mathematics Number & algebra

Section 1: Basic number and algebra

Section test

1) Work out [4l—23j+11
4 3

6
13 27
(€)) 1ﬂ (b) 12_8
5 3
(© 1ﬁ (d) -

(e) 1don’t know

2) Inasale, a coat priced at £150 is reduced by 55%. What is the new price of the coat?

(a) £82.50 (b) £67.50
(c) £95.00 (d) £145.00
(e) Idon’t know

3) The expression 3(2x+3y—1)—2(3x—2y—4) can be simplified to give the expression
(@) 13y+5 (b) 10y +5

(c) 12x+5y-11 (d) y-5

(e) I'don’t know

4) The expression (2x — 5)(x + 3) is equivalent to

(@ 2x2+x-15 (b) 2x2 —x—15

(c) 2x2 + 11x— 25 (d) 2x2—2x - 15
(e) I don’t know

5) Simplify V75 -/27

(a) V12 (b) /48
() 43 (d) 243

(e) Idon’t know

Innovators in
e eldtcs 1of 4 11/06/13 © MEI



AQA FM Number & algebra 1 section test solutions

6) Simplify V12 x+/8x+/98
(a) 56/6 (b) 5643
() 28+/3 (d) 28+/6

(e) I don’t know

7) The ratio \/§x/1_8«/% can be written in its simplest form as

@4:9:25 (b)2:3:5
(c)1:10:42 (d) 1:10: V42

(e) Idon’t know

8) Multiply out (2—\/5)(1+ 2J§) and simplify as far as possible

(@) -4++3 (b) 24343
(c) —4+3V3 d) 2++3

(e) Idon’t know

In Questions 9 and 10, rationalise the denominator and simplify as far as possible.

2

W2
@ g (b) {
(c) 32 @ i
(e) I don’t know

2+3
10

T

(@5 (b) 2+3-2V2-/6
©) 22 +/6—3—2 (d) 2**[

(e) I don’t know
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Solutions to section test

1) The correct answer is (¢)

1 2 2 z2-g 5 7
4=-2==2+—-"=2+ =2-—=12

4 = 3 12 12 12
(ss_zgj 1_ FLF_ Y £ _1__ 5

4 =3 6 12 &6 87 F 14 14

2) The correct answer ts (b)
The new price (s 45% of the previous price.
0.45 X 150 = 6#.5
The new price is £67.50
3) The correct answer is (a)
3x+3Yy-1)-2Asx—2Yy—4)=6x+ 9Y-3-6Xx+4Yy+8

=13g+5

4) The corvect answer Ls {(a)

(2x-5)(x+3)=2X+t6Xx—-5x—15

=24+ x—15

5) The corvect answer is (d)

75 —27# =25 %3 - [9x=
=5z -2z
—adz

&) The correct answer s (b)

Ji_zx@x\/jg =zx4 xJ2x4x\/2x4ﬁ
=2z x2J2x#J2
=2gx24=

=56z
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F) The corvect answer is (b)

Ve i1 50 = J4x2: [9x2: /a5 %2
=2 2:3«/5:5\/5

=2:3:5

g) The correct answer Ls (¢)

(2-v3)(1+2V3)=2+43 -3 2433
=2+3J2 -6

=—4+3J=

9) The corvect answer s (a)

2 _ 2 N2_2d2_+=2
22 =2 2 & =

10) The correct answer is (c)

25 _(244E)(2-1B)

1+ﬁ_(1+ﬁ)(1—ﬁ)
_2-22+z-e
12 +d2-2
_2-22+z-Ve

—1
=2J2-z3+Je -2
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